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Integrated Science

Select a word from the word box and type it into the correct sentence space below.

Word Box:
Organic, five, nutrients, water (H20), seed, four, carbon dioxide (CO2),
bedrock, light, plant, three, nitrogen gas.

Germination is a process by which an organism grows from a
into a ;
What three things would a plant need for growth? The three things
needed for change in a seedling beside the correct environment and

nutrients are
i 3
2.
3.

How many cycles are in a plant cycle? They are
Which gases are produced by a plant?

and gases are produced by a plant.
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